0001856363418999

o0 BHAE 0—elo

2014 4 %5 4[4

4 | BLNOBWIZE R &

(D p>1, g>1oex, FEXp+qg< pg+1 %EHE L.
2)a>1, b>10eE, FERXVa+b—1<Ja+Vb—1 % k.
3 a>1 b>1 c>10eE TEXVa+b+c—2<Ja+/b+Jc—2 2T &,

(VFR)-(£2)= py-P-3+1
= (P-1(8—1)
>0 (P2t g>1) @

QA ct FZar, 2% (1. geh-1 < atbt1 +2/a5 WA -G
CRE(EEN, Tany, Jab + 1 >fa+JF & Teeup

hE, MoRX iz PV, §=JF s A IRto Rar 9o g
(a>1. b> 1 FY). P=yA>1, 9=0F > | ¥ HT2(703)

(3)1/’__—'——- ~f =
a+(hsc-0=1 < JE+ Vpre-r =1 ((2)2213’745’)[:)

> 1 < Ja +J5+/c -1 -1

b}

va tvh+/c -2




